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1. (15%) fEGWoTTTEZ -
y'—4y =2e* +6e*

2. (10%) BT TI7HE

3 m

—3xy"+6xy' -6y =0

3.(15%)  BERIS TS -
Y"'+9y = 8cos(x), y(O) =3 (0) =8

4.(20%) {#F Laplace Transform » fi# :

4¢ if 0<t<l

1342y =
vy L

»w0)=0,  »'(0)=0
(BIUEARTEEERE )

5. K determinant (47 %] X {&) o (10%)

00 1 1 -4
6 —3 2 2 _9
1 -5 1 -2
4 8 2 2

6. RRLER - (10%)
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7.(20%) K R%I|%Ef#E > eigenvalue ~ eigenvector ©

4 2 -2

2 5 0]

-2 0 3
B ABSERI

L{f'(t)}= s* L{D)}=s f(0)- £1(0)
L{f(t)y= s LA}~ A0)

e=——  L{t}= L=

1st shifting theorem:
L{e"f(t) }=e*F(s-a)

2M shifting theorem:

L{f(t—a)-u(t—a)}y=e “F(s)
L f@Ouit-a)y=e“L{f(t+a)}




